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1. (10pts) Current member states of the European Union have been classified into groups in
the table according to their current populations (in millions) and time of joining the union.

If a random member country of the
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2. (20pts) Write the probabilities and odds against and in favor of the following events
(show any work needed below):

Event probability | odds against | odds in favor
a) Drawing an ace from a deck of cards 55 T@ 17 tu | [ 2
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3. (4pts) The oddﬁl against Wilma buying a cantaloupe on her weekly visit
to the grocery are T-to-12.

a) What is the probability Wilma buys a cantaloupe on her weekly visit to the
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grocery’ \g
b) What is the probability Wilma doesn’t buy a cantaloupe on her weekly visit s
to the grocery? 19

4. (4pts) In a typical year in Seattle, Washington, 42% of days are sunn/y
a) What are the odds in favor of choosing a sunny day in Seattle? . | 24l 2 s 8 16
b) What are the odds against choosing a sunny day in Seattle? 0153 2

b) 29 421
5. (Bpts) Among 65 cars on a dealer’s lot, 22 are white, 17 have heated front seats, and

8 are white and have heated front seats. What is the probability that a randomly chosen
car from the lot HFS

a) is white or has heated front seats? 21
b) is neither white nor does it have heated front seats? g 1”_2 ¥, 2
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6. (l4pts) Three dice are rolled: red, white and green. Write the number of outcomes of

this experiment and then compute the probahility that

a) exactly one of the dice came up with a 5. HM'}* ‘MS Swsfve
b) at least one of the dice came up with a 2. " .
¢) the sum on the red and whltu dice is ﬁor the sum on the white and green dice is 6.
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